KIT CONTAINS: TOOLS NEEDED:
2 - HOOD PROTECTOR (FENDER SECTIONS) PHILLIPS SCREWDRIVER

4 - PHILLIPS HEAD SCREWS POWER DRILL WITH 1/8”BIT
4 - NYLON SHOULDER WASHERS
2 - FASTENER CLIPS

Remove the two side marker lights - These lights are easily removed by taking out the one screw located directly below the marker light. With
this screw removed the marker light can be pulled from the side of the headlight assembly.The bulb may be removed to allow better access to
the underside of the fender.

Position the fender shield so the tab is positioned under the fender above the headlight.The portion of the fender shield closest to the grille
should align with the small rubber seal passing behind the grille. Move this rubber seal very gently by pulling on the two rubber plugs anchoring
the seal to expose the sheet metal lip of the fender. Slide the fastener clip onto the bottom hole of the lip of the fender. Fasten with a screw with
a washer attached through the rubber seal, the fender shield and into the fastener clip.

Position the tab on the shield above the headlight and mark the hole with a pencil. Drill a hole using a 1/8" drill bit. Use caution as your drill bit
will be positioned on an angle to correctly position this hole. Insert a screw and tighten. Repeat steps 1 & 2 for the other side.

0 Insert remaining plug on rubber seal in top hole of fender.

CLEANING: USE ONLY WARM SOAPY WATER AND A SOFT CLOTH.NEVER USE PAPER
TOWELS, PETROLEUM PRODUCTS, OR SOLVENTS TO CLEAN YOUR HOOD PROTECTOR!

Stampede Products, Inc. + 1924 S.Washington, Blvd. < Camanche, IA. 52730 + Ph 563-259-9189 Fax 563-259-9288 « www stampedeproducts.com

#11

7
7~
%

= CENTER HOOD PROTECTOR
TRIT>  INSTALLATION INSTRUCTIONS

<~Jf
<
TRUCK ACCESSORIES

TOOLS NEEDED:
PHILLIPS SCREWDRIVER
NUT DRIVER - 5/16"BIT

o Raise the hood of the vehicle and locate the W shaped steel frame which supports the grille. Note the 2 tabs on
the left and right frame support posts. A screw passes through each of these tabs to join the grille to the frame.
Remove the screw from the top left and right tabs completely using a 5/16" nut driver or socket.

e Loosen the screw in the bottom left and right tabs, but do not completely remove.

At the top of the grille there will be 6 studs which pass through holes in the hood, and are fastened with nuts inside the vehicle hood. Loosen these
nuts with 5/16” nut driver or socket.

At this stage pull the grille away from the hood and the inner grille frame. When you pull the grille back at the top, ample clearance will be available
to insert the hood protector between the grille and the hood.

Position the hood protector between the hood and the grille so that the 6 slots on the hood protector are aligned with the 6 studs passing through
the hood. Gently press down on the hood protector until the top of the slots meet the studs.

Align the hood protector so it is centered on the vehicle. When centered, gently push in on the top of the grille, allowing the studs to pass from the
grille through the hood protector and the hood. Re-install the nuts on the studs and tighten. (BE CAREFUL NOT TO OVER-TIGHTEN THE NUTS!)
Replace the 2 screws on the top of the left and right tabs of the grille frame and tighten together with the screws of the bottom 2 tabs.

0 Carefully lower the hood to the latched position and close. Check that the hood protector is firmly attached to the vehicle.

CLEANING: USE ONLY WARM SOAPY WATER AND A SOFT CLOTH.NEVER USE PAPER
TOWELS, PETROLEUM PRODUCTS, OR SOLVENTS TO CLEAN YOUR HOOD PROTECTOR!

Stampede Products, Inc. « 1924 S.Washington, Blvd. « Camanche, IA. 52730 + Ph 563-259-9189 Fax 563-259-9288 + www stampedeproducts.com



